Estimate of cost of Branch No. 1. Ditch No. 51 Anoka County

1.7 %.

1000

100

1.4

1.07

No. Station	She	et. Cubic Yards.	Cost Excavati	lon. Pre. Cost.	T	otal Cost.
Sheet No.	1.	1,625.14	\$ 162.49	\$ 40.85	\$	203.34
Sheet Np. 2		<u>999°40</u>	99,95	32.25	- 1000 - 1000 - 2010	132.20
100 (100 (100 (100 (100 (100 (100 (100		Lateral Np. 1 Bra	nch No. 1.			
Sheet No. 1		471, 158	47.15		• www.usa	66.59 p.
To	otal	Cost Branch 1.		erik 1		
		2,096.07	\$ 309.59	\$ 92.45	\$	402.04

The state of the s

• 1, 1

Comprehensive Communication of the Communication of

... 905

.KFI

1001 ,801

, U.S. J.

.361 , ta0.1

gett -2000

.500

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 1 Ditch No. 51.

SECTION	The state of the s	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Prelim and Expense of Inspecting Work until C With Total Per Section	inary Expenses	, ,	(7) Total Esttmated per Secti	Cost ion
						\$ CTS.		\$	Стѕ.	\$	CTS
Between Stake No.	0.	3.1 ft.	3.0 ft.	9.2 ft.			Cost of excavation.		-		
and Stake No.	1.	3.0 "	3.0 "	9.0 "	6.778 Cu. Yds.	10¢	\$6.78	\$	215	\$ 8	3 93
Between Stake No.	2.	3.1 "	3.0 "	9.2 "	68.30 " "	10 ¢	683		2 15	8	98
and Stake No.	3.	3.1 "	3.0 "	9.2 "	70.00 " "	10 ø	7.00	THE REAL PROPERTY OF THE PARTY	2 15	9	9 15
setween Stake No.	4.	3.2 "	3.0 "	9.4 "	71.85 " "	10 ¢	7.18	Control Contro	2 15	6	33
and Stake No.	5.	3.4 "	3.0 "	9,8 "	77,04 " "	10¢	7.70		2 16	ç	9 85
Between Stake No.	6.	3.4 "	3.0 "	9.8 "	80.74 " "	10 ø	8,07	of processors and the second	2 15	10	0 22
and Stake No.	7.	3.5 "	3.0 "	10.0 "	82.40 " "	10 ø	824.	A DESCRIPTION OF THE PROPERTY	2 15	10	38
setween Stake No.	8.	3.6 "	3.0 "	10.2 "	86.10 " "	10 ¢	8.61	The state of the s	2 15	19	9 76
and Stake No.	9.	4.0 "	3.0 "	11.0 "	95.93 " "	10 ¢	9,59	notes and an experience of the state of the	2 15	11	1 74
Between Stake No.	10.	4.1 "	3.0 "	11.2 "	05.73 " "	10 ¢	10.57	de provincia de la constanta de	2 15	12	2 72
and Stake No.	11.	3.6 "	3.0 "	10.2 "	97.78 " "	10 ¢	9.78		2 15	11	1 93
Between Stake No.	12.	3.7 "	3.0 "	10.4 "	89.63 " "	10 ø	8.96	THE PROPERTY OF THE PROPERTY O	2 15	11	1 1
and Stake No.	13.	3.9 "	3.0 "	10.8 "	95.56 " "	10 ¢	9.56	and the second s	2 15	11	1 71
etween Stake No.	14.	1.8 "	3.0 "	10.6 "	97.78 " "	10 ¢	9.78	-	2 15	. 11	1 9:
and Stake No.	15.	3.4 "	3.0 "	9.8 "	88.15 " "	10 ¢	8.82	To the second se	2 15	1(0 9'
etween Stake No.	16.	3.6 "	3,0 "	10.2 "	84.44 " "	10¢	8.44	Transmission of the control of the c	2 (15	10	0 59
	1	3.6 %	3.0 "	10.2 "	88.15 " "	10 ¢	8,81	Territoria del proceso del pro	2 15	The second secon	0 9
and Stake No.	18°	3.6 "	3.0."	10.2 "	88.15 " "		8.81	dispersion of the control of the con	2 15		0 96
etween Stake No.	19.	3.7 "	3,0 "	10.2	89.63 " "	10 ¢ 10 ¢	**************************************	e control of construction of c	2 15		1 1
and Stake No.	±Ve				325.14	TO B	\$162.49	\$,	40.85		3.34

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in _____ Ditch No.

Washington and the same of the	v	(2) VIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT I AT TOP			(6) Character of Other Expenses, Including Preliminary Exand Expense of Inspecting Work until Completed With Total Per Section	penses . I		E	(7) Total sttmated Cost per Section	
					ств.		\$	Стѕ.		\$ CTS	-
. 3.	7 ft.	3.0 ft.	10.4 ft.			Cost of Excavation.	Services and the services of these		and a second sec		
4.	O a	3.0 "	11.0 "	97.78 Cu.Yds.	10¢	\$ 9.78	\$	2	15	\$ 11	93
. 4.	0 , "	3.0 "	11.0 "	103.70 " "	10 ¢	10.37	ter processor was who have been	. 2	15	12	52
3.	9 "	3.0 "	10.8 "	101.65 " "	10 ¢	10,16.		2	15	12,	.3.
3.	1 "	3.0 "	9.2 **	84.07 " ":	10.¢	8.41		2	15	10	5(
	.2 **	3.0 "	7.6	56.30 " "	10 ¢	5,63		2	15	7.	.78
. 2.	1 "	3.0 "	7.2	41.85 " "	10 ø	4.19		2	15	6	34
. " 2.	2 **	3.0 "	7.4 "	4.111 " "	10 ¢	4.11		2	15	6	26
400		400 000 000 000 000 000 000 000 000 000	7.6	43.70 " "	10 ¢	4.37	And the second s	2	15	6	52
- Particular and the second se	.6 ⁹¹ .	3.0 "	8.0 "	47.78 " "	10 ¢	4 78	The second secon	2	15	6	93
. 2.	.7 "	3.0 "	8.4 "	54.07 " "	10 ¢	5.41	de de la company se co	2	15	7	56
. 2.	9 "	3.0 "	8.8 "	60.17 " "	10 ø	6.02		2	15	8	17
-	.6 "	3.0 "	8.2 "	58.52 " "	10 ¢	5,85		2	15	8	00
-		3.0 "	9.8 "	67.41 " "	10 \$	6.74	A CONTRACTOR AND A CONT	2	1 5	8	88
				80.74 " "	10 ¢	8.07	Contract Con	2	15		
-		The state of the s	The state of the s		10 a	6.06	A STREET, THE STRE				100
. , , , , ,		A CONTRACTOR OF THE CONTRACTOR		AND			\$	NOT THAT (NOT - 20)	9 - ap - ap - ap		
Wild Control of the C		The special of the sp				φ <u> </u>	A STATE OF THE STA				
		- The state of the				***	verrous estatuta		TO THE PERSONNEL PROPERTY OF THE PERSONNEL P		AND APPRICE VALUE AND APPRICE.
		***************************************			The state of the s	THE PERSON NAMED IN COLUMN 1 AND	Mode antique among control			The state of the s	Search State Opposition
	DEPTH 3. 4. 4. 3. 2. 2. 2. 2. 2. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3.	3.7 ft. 4.0 " 4.0 " 3.9 " 3.1 " 2.2 " 2.1 " 2.2 " 2.3 " 2.6 " 2.7 " 2.9 " 2.6 " 3.4 " 3.4 "	DEPTH OF CUT AT BOTTOM 3.7 ft. 3.0 ft. 4.0 " 3.0 " 4.0 " 3.0 " 3.9 " 3.0 " 3.1 " 3.0 " 2.2 " 3.0 " 2.1 " 3.0 " 2.2 " 3.0 " 2.3 " 3.0 " 2.6 " 3.0 " 2.6 " 3.0 " 2.6 " 3.0 " 3.4 " 3.0 "	3.7 ft. 3.0 ft. 10.4 ft.	3.7 ft. 3.0 ft. 10.4 ft. 4.0 " 3.0 " 11.0 " 97.78 Cu.Yds. 4.0 " 3.0 " 11.0 " 103.70 " 103.70 " " 103.70 " 103.70 " 103.70 " 103.70 " 103.70 " 103.70 " 103.70 "	DEPTH OF CUT AT BOTTOM WIDTH OF CUT AT TOP NO. OF CUBIC YARDS TO BE REMOVED RECUBE YARDS TO BE WARDS T	No. of Cubic Yards State	DEPTH OF CUT	DEPTH OF CUT	DEPTH OF CUT	DEPTH OF CUT WIDTH OF CUT NO.0F CURE XAIDS TO BE REMOVED Per Cubic Yards Schemated Case Schema

EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS. Lateral No. 1 Branch No. 1

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in _____ Ditch No. 5 1.

		(1)	(2) WIDTH OF CUT	(3) WIDTH OF CUT	(4) NO. OF CUBIC YARDS	(5) Estimated Cost	(6) Character of Other Expanses, Including Preliminary	Ernenses		(7	
SECTION		DEPTH OF CUT	AT BOTTOM	AT TOP	TO BE REMOVED	Per Cubic Yards	Character of Other Expenses, Including Preliminary and Expense of Inspecting Work until Complet With Total Per Section	ed		Tot Esttmat per S	ed Cost ection
Between Stake No.	0.	2.3 ft.	2.0 ft.	6.6.25.		\$ CTS.	Cost of Excavation.	\$	Ств.	\$	CTS.
and Stake No.	1.	2.9."	2.0."	7.8 "	44.60 Cu.Vds.	10 ¢	\$ 4.46	\$	2 15	\$	6 61
Between Stake No.	2.	2.9 "	2.0 "	7.8 "	52.59 " "	10 ¢	5,26	Attachment	2 15	The state of the s	7 41
and Stake No.	3.0	3.0.	2.0 "	8.0 "	54.07 " "	10 ¢	5.41	Control of	2 15	And the control of th	7 56
Between Stake No.	4.	3,2 "	5 2 20 "	8.4 "	58.52 " "	10 ¢	5,85		2 15	TOTAL STATE OF THE	8 00
and Stake No.	5.	3.4 "	2.0 "	8.8 *	46.30 " "	10 ø	4.63		2 15	pergramage and production of the second	6 78
Between Stake No.	6.:	3.5"	2.0 "	9.0 "	69.63 " "	10 ¢	6.96		2 15	TO THE PROPERTY OF THE PROPERT	9 11
and Stake No.	7.	3.5 "	2.0 "	9.0 "	71.30 " "	10 4	7.13	Company of the Compan	2 15	00 Hall 10 Hal	9 42
Between Stake No.	8.	3.7 "	2.0 "	9.4 "	72.72 " "	10 ¢	7.27	er po model and a	2 15	AND THE PROPERTY OF THE PROPER	9 42
and Stake No.		3.7 "	2.0 "	9.4 "	1.80 " "	10 ¢	0.18		2 15	Walter State of the State of th	2 33
Between Stake No.	The second secon			Permanent of the second of the	471.53		\$ 47.15	\$ 1	.9, 35	\$	66 50
and Stake No.	na proposa de la companio del companio del companio de la companio del companio del la compan					4		nydanishoopinasinyo	Ships with the Westermanness and the Ships a	de production de la company	19-44 1 1000000000000000000000000000000000
Between Stake No.	minor management of the control of t						· ·	reposer (manufacture) production (manufacture)	Perfit As illocation are non	La de Colonia de La colonia de	
and Stake No.	The state of the s					der der gerande de d		man () Common () () and man	unique e un mando de conque		and distance recognition of the second secon
Between Stake No.	and the state of t		*				·	and beautiful or the state of t	AND TOWNS COUNTY		
and Stake No.	The second secon	•						And Annual Control of the Control of	Gan he digital property of the second	The state of the s	
Between Stake No.						-		not proposed and an artist of the control of the co	- And Andrews -	A CALIFORNIA CALIFORNI	
and Stake No.	emprover presentative of the control		-						Section of the sectio	Assistance and a second and a s	And in the second control of the second cont
Between Stake No.	von principal de la constanta		PART OF THE PART O							And an experience of the control of	
and Stake No.	The state of the s			Textumonous		4	et uniminate de la constant de la co	STATE OF THE PARTY OF T		Management of the state of the	- and an analysis of the second

Estimate of cost of Branch No. 2 of Ditch No. 51

. The state of the

Anoka County Minnesota.

	No. of Sheet.	Cu. Yds.	Excavation.	Preliminary	Total Cost.
	Sheet No. 1	1,703.44	\$ 170.33	\$ 4C.85 \$	211.18
	" 2 ₁	2,221.67	239.63	40.85	280.48
*	n n 3.	2,082.84	210.58	40.85	251.46
	n, " n, 4.	2,342.54	264.73	40.85	305,58
V.	⁸ ⁸ 5.	2,238.90	268.65	40.85	309.50
	и и 6.	2,108.95	252.05	40.85	2,92,90 293,30
	7.7	1,791.91	214.97	40.85	255.82
	" 8. "	270.85	32.49	8,60	41.09
Lateral No.	1 Sheet No.1_	509.71	50.98	15.05	66.03
Total Cost of	f Branch No. 2	15,270.81	\$ 1,704.41	\$ 309.60 \$	2,014.01

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2 Ditch No. 51.

	(1)	(2)	(3)	(4)	(5)	(6)				(7)	
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yards	Character of Other Expenses, Including Preliminar and Expense of Inspecting Work until Compl With Total Per Section	eted	3S	- more and	Total Esttmated per Sect	Cost ion
		-			\$ CTS.		\$	С	TS.	\$	CTS.
Between Stake No. 0.	4.3 ft.	3.0 ft.	11.6 ft.	,		Cost of excavation.	of the second se	900	distance of the second		orbrand-florament
and Stake No. 10.	4.3	3.0.	11.6 "	116.29 Cu.Yds.	10 ¢	\$11. 63	\$	2 1	5	\$ 13	78
Between Stake No. 2.	3.7 "	3.0 "	10.4 "	104.07 " "	10 ¢	10.41	2000 2000 2000 2000 2000 2000 2000 200	2 1	.5	12	56
and Stake No. 3.	4.6 "	3.0 "	12.2 "	110.74 " "	10 ¢	11.07	Control of the Contro	2 1	.5	13	22
Between Stake No. 4.	4.0 "	3.0 "	11.0 "	116.67 " "	10¢	11.67	paragraphic and paragraphic an	2 1	.5	13	82
and Stake No. 5.	2.5 #	3.0"	8.0 "	77.04 " "	10 ø	7.70	man (managaman a laboratoria	2 1	.5	9	85
Between Stake No. 8.	3.6 "	3.0 "	10.2 "	69.40 " "	10 ø	6 94	discontinuos de la contraction del contraction de la contraction d	2 1	.5	9	09
and Stake No. 🐉	3.9 "	3.0 "	10.8 "	93.70 " "	10 ¢	9.37	Mark (Vandehalina III) va Mirospoji vaprestabioji	2 1	.5	11	.52
Between Stake No.	4.1 "	3.0 "	11.2 "	103.70 " "	10 ø	10.37	COMMISSION AND COMMISSION OF THE COMMISSION OF T	2 1	.5	12	52
and Stake No. 9	4.5 "	3.0 "	12.0 "	1 16.29 " "	10 ¢	11,63	CONTRACTOR	2 1	.5	13	78
Between Stake No. 10.	3.3 "	3.0 "	9.6 "	101,11 " "	10 ¢	10.11	TO VALUE OF THE PARTY OF THE PA	2 1	.5	12	26
and Stake No. 11.	3.7 "	3.0 "	10.4 "	84.44 " "	10 ø	8.44	en un de un de promonente de production de la constante de la	2 1	.5	10	59
Between Stake No. 12.	3.2 **	3.0 "	9.4 "	82.59 " "	10¢	8 26	and management and form	2 1	.5	10	41
and Stake No. 13.	3.2 "	3.0 "	9.4 "	7,333 " "	10 ø	7.33	To the state of th	2 1	.5	9	48
Between Stake No. 14.	2.9 "	3.0 "	8.8 "	68.52 " "	10 ¢	6.85	And the state of t	2 1	.5	9	00
and Stake No.15.	3,3 "	3.0 "	9.6 "	70.18 " "	10 ø	7.02	THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PR	2 1	.5	9	17
Between Stake No. 16	3,2 "	3.0 "	9.4 "	75,19 " "	10 ¢	7.52	and one of the control of the contro	2 1	.5	9	67
and Stake No. 17	3.4 "	3.0 "	9.8 "	77.04 " "	10 ¢	7.70	was jour a specifical	2 1	.5	9	85
Between Stake No. 18	3.4 "	3.0 "	9.8 "	80.74 " "	10 ¢	8.07	Company of the Compan	2 1	.5		22
and Stake No. 19.	3,5 "	3.0 "	10.0 "	82,40 " "	10 ¢	8.24		2 1			39
and Stake Ivo. 19.	II J. J.			1,703.44 " "		\$ 170.33	\$ 4	10.8		\$ 211	

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2 Ditch No. 5 1.

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Preliminary and Expense of Inspecting Work until Comple With Total Per Section	Expenses ted	(7) Total Esttmated per Secti	Cost ion
				· ·		. \$ Ста.		\$ CT:	s. \$	Ств
Between Stake No.	19.	3.5 ft.	3.0 ft.	10.0 ft.			Cost of exxcavation.		Professional and a special and	and D. Menman Abrahama
and Stake No.	20.	3.6 "	3.0 "	10.2 "	96.11 Cu.Yd.s.	10%	\$ 8.61	\$ 21	5 \$ 10	0.76
Between Stake No.	21.	3.8 "	3.0 "	10.6 "	91.85 " "	10 ¢	9.18	2 1	5 11	1 33
and Stake No.	22.	3,9 ":	3,0 "	10.8 "	97.78 " "	10 ø	9778	2 1	5 11	1 93
Between Stake No.	23,	4.0 "	3.0 "	10.6 "	101.66 " "	10 ¢	10.16	2 1	5 12	2 31
and Stake No.	24.	4.1 "	3.0 "	11.2 "	105.70 " "	10 ¢	10.57	2 1	5 12	2.72
Between Stake No.	25.	4.4 "	3.0 "	11.8 "	112.07 " "	10 ¢	11.20	2 1	5 13	3.35
and Stake No.	26.	4.3 "	3.0 "	11.6 "	118.52 " "	10 ¢	11.85	2 1	5 14	4 00
Between Stake No.	27.	4.6 "	3.0 "	12.2 "	122.96 " "	10 ¢	12.30	2 1	5 14	4 45
and Stake No.	28.	5.0 W	3.0 "	13.0 "	138.15 " "	12 \$	16.58	2 1	5 18	3 73
Between Stake No.	29.	4.9 "	3.0 "	12.8 "	145.70 " "	12. ¢	17.48	2 1	5 19	9 63
and Stake No.	30.	5.1 ":	3.0 **	13.2 "	148.15 " ",	12 🏚	17.78	2 1	5 19	9 03
Between Stake No.	31.	4.9 "	3.0 "	12.8 "	148.15 " "	12 \$	17.78	2 1	5 19	9 93
and Stake No.	32.	5.1 "	3.0 "	13.2 "	148.15 " "	12 ¢	17.78	2 1	5 19	9.93
Between Stake No.	33.	4.8 "	3.0 "	12.6 "	145.92 " "	12 ¢	17.51	2 1	5 19	9 66
and Stake No.	34 . "	3.6 "	3.0 "	10.2 "	113.33 " "	10 ø	11,33	2 1	5 13	3 48
Between Stake No.	35.	3.7 "	3.0 "	10.4 "	8 9. 91 " "	10 ¢	8.99	2 1	5 11	1.14
and Stake No.	36.	3,9 "	3.0 "	10.8,"	95.70 " "	10 ¢	9.57	2 i	5 11	1 72
Between Stake No.	37.	4.2 "	3.0 "	11.4 "	10.5.93 " "	10 ¢	10,59	2 1	5 12	2 74
and Stake No.	37 °	3,9 "	3.0 "	10.8 "	105.93 " "	10 ¢ -	10,59	2 1	0.00	74
					2,221.67		\$ 249.63 Total Estimated Cost of Whole Work,	\$ 40.8	5 \$ 280	0.48

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2 Ditch No. 5 1.

	g and the second se	100000000000000000000000000000000000000								
SECTION	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Preliminary and Expense of Inspecting Work until Complet With Total Per Section	Expenses ed		(7) Total Esttmated per Secti	Cost on
					\$ CTS.		\$	CTS.	\$	CTS.
Between Stake No. 38.	3.9 ft.	3.0 ft.	10.8 ft.		4	Cost of excavation.				direct descriptions
and Stake No. 39.	4.1 "	3.0 "	11.2 "	103.70 Cu. Yds.	10 ø	\$10.37	\$:	2 15	\$ 12	.52
Between Stake No. 40.	4.1 "	3.0 "	11.2 "	107.47 " "	10 ¢	10.74	1	2 15	12	89
and Stake No. 41.	3,9 "	3.0 "	10.8 "	103.70 " "	10 ø	10.37	;	2 15	12	5 5
Between Stake No. 42.	4.0 "	3.0 "	11.0 "	101.63 " "	10 ¢	10.16	1	2 1 5	12	31
and Stake No. 43.	4.2 "	3.0 "	11.4 "	107.79 " "	10 ¢	10.78		2 15	12	93
Between Stake No. 44.	4.1 "	3.0"	1"1),2 "	110.00 " "	10 ø	11.00	,	2 15	13	15
and Stake No. 45.		3.0 "	11.2 "	107.78 " "	10 ø	10.77		2 15	12	93
Between Stake No. 46.		3.0 "	11.6 "	112.04 " "	10 ¢	11.20	•	2 15	13	35
and Stake No. 47.	4.2 "	3.0 "	11.4 "	114.07 " "	10 ¢	11.40	· · · · · · · · · · · · · · · · · · ·	2 15	13	55
Between Stake No. 48.	4.2 "	3.0 "	11.4 "	111.85 " "	10 ¢	11.18	opposition of the contraction of	2 15		33
and Stake No. 49.	4.4 "	3.0 "	11.8 "	116.29 " "	10 ø	11.62	Company of the Compan	2 15	13	77
Between Stake No. 50.	4.1 "	3.0 "	11.2 "	114.07 " "	10 ¢	11.40	SAMA	2 15		55
and Stake No. 51.	i	3.0 "	11.2 "	107.79 " "	10 ø	10.78	man of the state o	2 15		93
Between Stake No. 52.	•	3.0 "	11.4 "	110.00 " "	10 ¢	11.00		2 15		15
and Stake No. 53.	_ -	3.0 "	11.2 "	110.00 " "	10 ¢	11.00	Part Control	2 15		15
Between Stake No. 54.		3.0 "	11.0 "	107.79 " "	10 ¢	10.78	STREET, STREET	2 15		93
and Stake No. 55.		3.0 "	11.2 "	110.00 " "	10 ¢	11.00		2 15		1 5
Between Stake No. 56.		3.0 "	11.2 "	110.20 " "	10 p	11.02		2 15		17
and Stake No. 57.	4.5 "	3.0 "	12.0 "	116.67 " "	12 ½	14.00	344	2 15		15
57,	" 4.0 '			,082.84	4 LU P	\$210.58	\$ 40	-		1.46

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2. Ditch No. 5 1.

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Prelin and Expense of Inspecting Work until C With Total Per Section	ninary Expenses ompleted		(7) Total Esttmated per Secti	Cost
						\$ Ств.		\$	CTS.	\$	CTS.
Between Stake No.	57.	4.5 ft	3.0 ft	12.0 ft.			Cost of excavation.			ACCOUNTS AND ADDRESS OF THE AC	and an analysis of the same of
and Stake No.	<u>5</u> 8.	5.2 '(3.0 "	13.2."	138.89 Cu. Yds.	12 ø	\$ 16.66	\$ 2	15	\$ 18	81
Between Stake No.	59.	5.2 "	3.0 "	13,4 "	155. 55 " " "	12 ¢	18.66	2	15	20	81
and Stake No.	60.	5.0 "	3.0 "	13.0 "	152,96 " "	12 🏚	18.36	2	15	20	51
Between Stake No.	61.	4.5 "	3.0 "	12.0 "	136.67 " "	12 ø	16.40	2	15	18	55
and Stake No.	62.	4.8 "	3.02	12.4 "	129,63 " "	12 ø	15,56	2	15	17	71
Between Stake No.	63.	4.4 "	3,0."	11.8 "	127.40 " "	10 ¢	12.74	2	15	14	89
and Stake No.	64.	4.6 "	3.0 "	12.2 "	12 5.00 " "	10 æ	13.50	2	15	15	65
Between Stake No.	65.	5.9 "	3.0 "	12.8 "	136,29 " "	12 ¢	16.35	2.	15	18	50
and Stake No.	66.	4.6	3.0."	12.2 "	136.29 " "	12 ø	16.35	2	15	18	50
Between Stake No.	67.	4.4 "	3.0 "	11.8 "	125.00 " "	12 🏚	15.00	2	15	17	15
and Stake No.	68.	5.0 "	3.0 "	13.0 "	136.29 " "	12 ¢	16.35	2	15	18	50
Between Stake No.	69.	4.6 "	3.0	12.2 "	138.89 " "	12 ø	16.66	2	15	18	8.81
and Stake No.	70.	5.0 "	3.0 "	13.0"	138,89 " "	12 ¢	16.66	2	1 5	18	81
Between Stake No.	71.	3.6."	3.0 "	10.2 "	118.15 " "	10¢	11.82	2	15	13	97
and Stake No.	72.	3.4."	3.0."	9.8."	8,445× " "	10 ø	8.44	2	15	10	59
Between Stake No.	73.	3.8 "	3.0 "	10.6 "	88.15 " "	1(\$	8.82	2	15	10	97
and Stake No.	74.	3.6 "	3.0 "	10.2 "	91,85 " "	10 ¢	9.18		15		33
Between Stake No.	75.	3.5 "	3.0."	10.0 "	86.10 " "	10 ¢	9.61	Particular de la constitución de	15		76
and Stake No.	76.	3.6	3.0 "	10.2 "	86,10 " "	10 p	8.61		15		76
and Stake WO.	/ 0 •		JI		2,342. ₅₄		\$ 264.73	\$ 40.	THE WAR	\$ 105 305	-5 8

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Bro. 2. Ditch No. 51.

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Preliminary and Expense of Inspecting Work until Comple With Total Per Section	Expenses sted	(7) Total Estimated per Sect	Cost tion
						\$ CTS.		\$ CTS		CTS,
Between Stake No.	76.	3.6 ft.	3.0 ft.	10.2 ft.	•		Cost of excavation.			- Bergoria
and Stake No.	77.	3.8 **	4.0 "	11.6 "	98.89 Cu. Yds.	12 ¢	\$ 11.87	\$ 2 15	\$ 14	02
Between Stake No.	58.	3.8 "	5.0 "	11.6 "	109.63 " "	12 ø	13.15	2 15	15	30
and Stake No.	79.	. 4.0 "	4.0 "	12.0 "	114.07 ", ",	12 🌶	13.69	2 15	15	84
Between Stake No.	80.	3.9 "	400"	11.8 "	116.29 " "	12 ø	13.95	2 15	16	3 10
. and Stake No.	81.	4°1 "	4.0 "	12.2 "	118,89 " "	12 ø	14.28	2 15	16	3 43
Between Stake No.	82.	4.3 "	4.0 "	12.5 "	125.58 " "	12 ¢	15.07	2 15	17	7 22
and Stake No.	83.	4.3 "	4.0 "	12.6 "	132,22 " "	12 ø	15.86	2 15	18	3 01
Between Stake No.	84."	4.5	4.0"	12.6 "	137 04 " "	12 p	16.44	2 15	18	3,59
and Stake No.	85.	4.3."	4.0 "	12.4 "	137.04 " "	12 ø	16.44	2 15	18	3 59
Between Stake No.	86.	4.4 "	4.0 "	12.8"	134.44 "	12 ø	16.13	2 15	18	3 28
and Stake No.	87.	4.4 "	4.0	12.8 "	137.04 " "	12 ø	16.44	2 15	5 18	3 59
Between Stake No.	88.	4.0 "	4.0 "	12.0 "	127.77 " "(12 ø	15.33	2 15	5 17	7 48
and Stake No.	8 9 .	3.8 "	4.0 "	11.6 "	114.07 " "	12 ø	13.69	2 15	5 15	5 84
Between Stake No.	90.	3.6 "	4.0 "	11.2 "	105.56 " "	12 ¢	12.67	2 1	5 14	4.82
and Stake No.	91.	3.5 "	4.0 "	11.0"	99.26 " "	1 8 ¢	11.91	2 1	5 14	4 06
Between Stake No.	92.	3.7 "	4.0 "	11.4 "	101.48 " "	12 ¢	12.18	2 1	5 14	4.33
and Stake No.	93.	3.6 "	4.0 "	11.2 "	103.33 " "	12 ø	12.40	2 1:	5 14	4 55
Between Stake No.	94	3.9 "	4.0 "	11.8 "	107.78 " "	12 ¢	12.93	2 19	5 1.5	5 08
and Stake No.	95.	4.1 "	4.0 "	12.2 "	118,52. " "	12 p	14.22	2 1	5. 16	37
				enemente de demonstrativo de la companya de la comp	2,238,90	ta dirección con reconstructivos con conservantes con conservantes que	\$ 268.65	\$ 40.8	5 \$ 309	9.50

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in r. No. 2 Ditch No. 51.

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Prelimi and Expense of Inspecting Work until Co With Total Per Section	inary Expenses mpleted		(7) Total Esttmated per Secti	Cost ion
	٥r					\$ CTS.		**	ств.	\$	CTS.
Between Stake No.	95.	4.1 ft.	3.0 ft.	12.2 ft			Cost of Excavation.	Account the second			-
and Stake No.	96.	4.0 "	4.0 "	12.0 "	120.74Cu.Yds.	12 p	\$14.49	\$	2 15	\$ 16	64
Between Stake No.	97.	4.1."	4.0 "	12.2 "	120.74 " "	12 ¢	14.49	do communicación de la com	2 15	16	64
and Stake No.	98.	4.2 "	4.0."	12.4 "	122.96 " "	12 ¢	14.76	por paragraphics	2 15	16	91
Between Stake No.	99.	4.2 "	4.0 "	12.4 "	125.18 " "	12 ¢	15 02	p p p p p p p p p p p p p p p p p p p	2 15	17	17
and Stake No.	100.	4.2 "	4.0."	12.2 "	125.18 " "	12 ø	15.02	o in the second	2 15	17	17
Between Stake No.	101.	3.1."	4.0"	10.2"	102,22 " "	12 ø	12.26		2 15	14	41
and Stake No.	102.	2.9."	4.0 "	9.8 "	77.78 " "	12 ¢	9.33		2 15	11	48
Between Stake No.	103.	3.6 "	4.0 "	11.2 "	87.78 " "	12 ¢	10.51		2 15	12	68
and Stake No.	104.	3.9 "	4.0 "	11.8 "	107.78 " "	12 ¢	12.93		2 15	15	08
Between Stake No.	105.	3.8 *	4.0 "	11.6 "	111.85 " "	12 ø	13.42		2 15		57
and Stake No.	106.	3.8 "	4.0 "	11.6 "	109.63 " "	12 ¢	13.16	Q-1	2 15		31
Between Stake No.	107.	3.8 "	4.0 "	11.6 "	110.74 " "	12 \$	13.29	NAME OF TAXABLE PARTY.	2 15	1 5	44
	108.	3.9 "	4.0 "	11.8 "	122.50 " "	12 ¢	14.70	2	15	16	85
	109.	3.4 "	4.0 ".	10.8 "	104.07 " "	12 ¢	12.48		15		63
Both con Stand 140.	110.	3.7 "	4.0 "	11.6 "	100.37 " "	12 ¢	12.04		15		.19
and State 110.	111.	4.1 "	4.0 "	12.2 "	113.33 " "	12 ¢	13.60		15		75
		4.0 "	4.0."		· _	•					
and Stake No.	113.	4.0 "	4.0 "	12.0 "	110,00	12 \$	14.38		15		.53
Between Bunke 146.					118.52 " "	12 \$	14.22		15		37
and Stake No.	114.	3.5 "	4.0 "	11.0 "	107.78 " "	12 ¢	12.93 \$252.05		15 .85		08 90

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2 Ditch No. 51.

SECTION		(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Preliminary and Expense of Inspecting Work until Complet With Total Per Section	Expenses ed	(7) Total Esttmated per Secti	Cost ion
				engering op en geging fan het fan de fan de geging fan de fan de geging fan de		\$ CTS.		\$ CTS.	\$	CTS.
Between Stake No.	114.	3.5 ft.	4.0 ft.	11.0 ft.			Cost of Excavation.	*cas +410 v41000 error		10-10-10-10-10-10-10-10-10-10-10-10-10-1
and Stake No.	115.	3.7."	4.0."	11.4."	101.48 Cu. Yds.	12.¢	\$ 12.1 8	\$ 2 15	\$ 14	33
Between Stake No.	116.3.4		4.0."	10.80"	100.37 " "	12 "	12.04	2 15	14	19
and Stake No.	117.	3.1 "	4.0 1	10.2 "	88.30 " "	12 ¢	10.60	2 15	12	7 5
Between Stake No.	118.	3.9 "	4.0 "	11.8 "	97,20 " "	12 ¢	11.64	2 15	13	79
and Stake No.	119.	3.4 "	4.0 "	10.8 "	104.07 " "	12 ¢	12.48	2 15	14	63
Between Stake No.	120.	3.6 "	4.0 "	11.2 "	98.15 " "	12 ø	11.78	2 15	13	93
and Stake No.	121.	3.6 "	4.0 "	11.2 "	101.30 " "	12 ¢	12.16	2 15	14	31
Between Stake No.	122.	3.8"	4.0 "	11.6 "	105.56 " "	12 #	12.66	2 15	14	81
and Stake No.	123.	3.4 "	4.0 "	10.8 "	102,59 " "	12 ø	12.31	2 15	14	46
Between Stake No.	124.	3.5·"	4.0 "	11.0 "	96.30 " "	12 ¢	11.56	2 15	13	71
and Stake No.	125.	3.5 "	4.0."	11.0 "	97.20 " "	12 ø	11.64	2 15	13	79
Between Stake No.	126.	3.3 "	4.0 "	10.6 "	93,33 " ",	131 ¢	11.20	2 15	13	35
and Stake No.	127.	3.2 "	4.0"	10.4 "	87.04 " "	12 ø	10.40	2 15	12	59
Between Stake No.	128.	3.1 "	4.0 "	10.2 "	83,33 " "	12 ¢	10.00	2 15	12	15
and Stake No.	129.	3.4 "	4.0 "	11.0 "	88.30 " "	12 ø	10.60	2 15	12	75
Between Stake No.	130.	3.0 "	4.0 "	10.0 "	86.47 " "	12 ¢	10.38	2 15	•	53
and Stake No.	de la company de		4.0 "	10.6 "	83.33 " "	1 2 ¢	10.00	2 15		15
•	131.	3. 3 .*	4.0 "	11.2 "	95,19 " "	12 ¢	11.42	2 15		
Between Stake No. and Stake No.	132. 133.	3.6 " 2.6 "	4.0 ".	9.2 *	82,40 . ". "	12 ¢	9.88	2 15		57 03
and Stake No.	700				1,791.91		\$ 214.97	\$ 40.85		.82

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Br. No. 2 Ditch No. 5 1.

SECTION	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yards	(6) Character of Other Expenses, Including Preliminar and Expense of Inspecting Work until Compl With Total Per Section	y Expense eted	8s ;		(7) Total Esttmated (per Section	Cost on
				*	\$ CTS.		\$	¢	тѕ.	\$	CTS.
Between Stake No. 133.	2.6 ft.	4.0 ft.	9.2 ft.			Cost of Excavation.					
and Stake No. 134.	3.0."	4.0 "	10.0 "	70.74 Cu. Yds.	12 ¢	\$ 8,94	\$	2	15	\$ 10	64
Between Stake No. 135.	3.0."	4.0."	10.0 "	.77.78 " " "	12 ¢	9.33	THE PROPERTY OF THE PROPERTY O	2	1 5	11	l 48
	2.6 "	4.0 "	9.2 "	70.74 " "	12 ¢	8.49		2	15	10	64
and Stake No. 136. /34+8/ Between Stake No. 137.	2.6 "	4.0 "	9.2 "	51.59 " "	12 ¢	6.18	poet is apparatus to the	2	15	8.	33
and Stake No.				270.85	•	\$ 3 9. 49	\$	8	60		L 09
Between Stake No.							man de series en del man	terifornium terifornium ferniteri	in place to the control of the contr		· ·
and Stake No.						,	And the second section of the section of the second section of the section of the second section of the section of th				No serie de la la destinación de la destinación del destinación de la destinación de
Between Stake No.			·		•	,	A COLUMN TO THE PERSON TO THE		Applying the major plane		And the second s
and Stake No.								2017	and the party of t		00000000 A 11 Julie
Between Stake No.		***************************************		,			1	alternational distributions and the second	Annual Company of the		man property and the second con-
and Stake No.						1			design of the second of the se		ormalina o incluino a me
Between Stake No.			- Control of the Cont				-	(and the second of the second	-		nemolation of 100 memory
and Stake No.		The state of the s	TALL WITH PROPERTY.					orygon popular meter meter	er were en		To the state of th
Between Stake No.		THE PROPERTY OF THE PROPERTY O	THE					Value de la constitue de la co	THE PARTY OF THE P		
and Stake No.			Commence of the Commence of th			,		drawadzą de molecy mesego			***************************************
Between Stake No.								The state of the s	And the second s		
and Stake No.		To the state of th	**************************************		T T T T T T T T T T T T T T T T T T T		*	- And advantagement and a			
Between Stake No.								enternent makkeren	,		Compount open selections.
and Stake No.		Topology or the second									

Total Estimated Cost of Whole Work,____

1.3638.48

Engineer's Report

IN

		Looise Cara		(1) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Ditch Proceedings.					練 か さ ・ **
· V	1 - A		· · · · · · · · · · · · · · · · · · ·	* · · · · · · · · · · · · · · · · · · ·	糖 / / / / / / / / / / / / / / / / / / /
				\$\$ 9° 4 \$	
·		· · · · · · · · · · · · · · · · · · ·		₩ ¢ ¢	№ 15 ±3
	Sur Mills Bridge			** /	* 0.8
. L T	100 Pro-100 Pr			類 a パ とき	Service of the servic
			· · · · · · · · · · · · · · · · · · ·	2 9	\$6 ° ₹ 4 † \$ -5 ·
*					

Fled the 26th day